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Ql.
i Ocean tlrernrai energy is produced due to 

-

Uptroi.l A: Pt.tt * diff"r"rr.. or diff.r.nt k"-"lr in
Optron -B: Terperahre difference at different leve
Uotrcn C: Energ, stored by waves in the ocean,,
Uptron D: Tides rising out of the ocean

'2. KVIC model phns are 
-Option A:

Option B:
-!!o:Ug_E{aBiops Plants 

- 

--
Optior C: Balloon BiogasPlants :
Optiol D: Tirbe

Path Iength of radiation
stur is at zenith is calleti

Option A: Declination 1,..''-;'r . ".l ----il.-f
Option B:
Option C:

Opticn D: Solar Corstant

4.

Option A:
0ption B:
Uptlon U: .I-at'$,!de-.-:'' 1': ''' - -" :

Option D: Hour angh, . l

'{'.
Yt' ,- :

.,;j.".:!. :r .:.'
i.i)i) . i' ,n

Opiion A: Piich-' l i.l)r : ! ,1't ..,:.. ..

Option B:' speed ofrotor .'
CIrd Egth of blades

irrreasing krad gn blades
' r$' r.F ! .n i\ ;r ia:J . .

*i. :*.: l:- .i:i' :..) .-rr: \'1

,''l',9.u.-.,:-i.il,.i,,i'i
Ttre liactkrn of tine during a given period ttra

called? ': 
.

Option A: Cut out vehcity
Option B: Flat rating , ',

Option C: Availability frctor
Option D , Cut in velocirv

.ll ::i .

Ii retention peiiDd is r and vohmrc of llud in drgei@
oirrpn hrr

is

Option A: Ylr.
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Option B: Vxr
Option C: V+r
Option D: V-r

8. What b Hour angle at 10.30 a,n ?

Option A: -22.5"
Option B: 22.5"
Option C: -450
Option D: 45."

9. ffieenlwohigfo tide? ,liii

Option A: 29 days 44 min
Optrcn B: 6h25min
Opbon U: 12 h 50 min

ption D: l4 davs

10. The process o-p,octucing energr by utilizing heat trapped inside the earth stuface

is calied l

Option A: hydrothermal energy

OF,tion B: solar enerry
(-)ptlon U: geo-Thern:al energi'
Ophon l): v,/a'/g

Q2 Solve any Four:'lout of Six

A Exphin any two sclar radlatton mcasurerllentdeYces.

ts
falcuEtelfivtiltiffi oI*Ty length overayearon 19 thof eachmonth of 2020 for
loca.tion of Delhi (28035'N.7742'E) .

C
ft-uia-t rock granite to a depth of 7 km.

Take the gcothermal temperature graCient at 400C/km,'Take the mtninum useful

femperahlre as 140 K above the surl'ace temperahre, ardt*k d"n.ity of 2700 -'
D Wile sho* note on OTEC plant.

E Exphin any one wavc encrgyconversbn device'

F Differentiate between Horizontal axis andVertical axis wind turbines.

horizontal axis rvind

Q4 Solve any Two'Questions out of Three 10 nrarks each

A @inrde 2) Hour angle 3) Declination 4) Daylength 5) Slopc

B Drafr and rxplain working of KVIC design of biogas digsster

G

ii

Catc.rUte ttre nurrber of aninuh and vohrne of bio digester required to produce

Power for a househc,icl ivhich has power requirenrnt of 0.8 kW for lighting and

cooknrg purpose. Takc- caklrific value of nrthane as 28 MJ/m', Blrrner efficiency

x lAYo, Retention perioci as 25 days, Dry nratter per aninral per day per anilrral is

1.8 kg , clensi[, of clry naitter irl slurw in dlester is 50 k-g1m', Biogas yield is

0.3nr per ks of drv nput. Methane proportion in gas n 0.7 .

28654C990 !,18DE74A-,^-A4"qB9455786455
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